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20158 =3 1 3] LESIH ax=HBRA2UARA

SN ASMRABEINRL
HH: 2HRHAN(SHLBB/25TH)
Sl ASNE 22 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
I EIPE PN 2,952,120 2,529,514 422,606
SEAL (2L /23T 1,170,890 755,390 415,500
SN2 2 460,823 460,823 0
A2l 114,060 99,060 15,000
401 NEHIL 2 THYI 35,000 20,000 15,000
01 Al Hl 35,000 20,000 15,000
OA+ME SHSTHE XS 2LTA(2IIL
TEVS-EEREEY EEETT)
15,000,0008 * 14 15,000 0 15,000
SsmEs el 346,763 361,763 ~15,000
401 N EHIL 2 THEI 204,000 219,000 ~15,000
01 Al 204,000 219,000 ~15,000
OWESD B4(LINLHMSAYSHZ:"H AL
2) 33 0¥ 0 15,000 ~15,000
e Ala el 710,067 294,567 415,500
HylE 22l 29 685,067 269,567 415,500
307 glztol & 276,667 249,167 27,500
05 2129 Er2 276,667 249, 167 27,500
OHBIZ ZIIXE 22 L HHBA
23 110,000,0002 110,000 82,500 27,500
401 NEHIL 2 THYI 398,000 10,000 388,000
01 Al Hl 398,000 10,000 388,000
OHHIZ =T SFA BABA
4,000,0008 * 242 8,000 0 8,000
OHHIZE S DASBAL 20,000,008 * 14 20,000 0 20,000
OHBIE HEH2l AES BETM
90,000,0008 * 45 360,000 0 360,000
BHLSGAY (AEMABIARL)(IIEHIIEH 294,337 287,767 6,570
o= 80,342 73,772 6,570
e 80,342 73,772 6,570
405 ThaHF St 17,870 1,300 6,570
01 Y2 EFH St 17,870 1,300 6,570
Oa%82R 22 ARY 23 2 6,570 0 6,570
— By 250,0008 * 52 1,250 0 1,250
— &I 300,0008 * 52t 1,500 0 1,500
SCEL 2,000,00080 * 141 2,000 0 2,000
SELLIEY 10,0008 * 22 220 0 220
—on 200,0008 * 52t 1,000 0 1,000
—slolg =X 200,0008 * 32t 600 0 600
BE(ALMHADVMNRL)(SSHLDZ/25TH) 536 0 536
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